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7% s T DT2t 173.4 | o’
R I A ALy T DT2t 173.4 | o’
T
e 50.7 m”
PR H-GRIE T
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2=} o ck=21N/mm2 35.8 | n’
P PR S 152.8 | o’
RIS PR S 3.9 m”
HeffEayy)—h o ck=18N/mm2 2.6 m’
FLRRER 2.3 m”
g fh SD295A D13 1902.0 | kg [1.90t
B fh SD345 D19 16. 2 kg 10.016t
B T L N— SD295A D16 81.0 | #A
1B KR CF200 16. 9 m
EE) t=10mm 6.1 m”
AN R =y VU ¢ 100 11.8 m
94=7" F= VU ¢ 50 L=0. 4m 12.0 | f&iAr
BT PetLE S 55.4 | fHn’
AN =i 1200 X 500 X 2000 2.0 SRS
1T FAHLK L=1. 5m 4.0 ZN
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SECT 0.00 0.0 0.0 — — 0.0 — —
SECT 2.30 2.3 9.8 4.90 11.3 3.7 1.85 4.3
0.0 9.8 — — 0.8 — —
0.2 9.8 9.80 2.0 0.8 0.80 0.2
0.0 9.8 — — 8.9 — —
SECT 4.66 2.2 10.5 10.15 22.3 10.8 9.85 21.7
SECT 5.96 1.3 14.8 12.65 16.4 14.0 12.40 16.1
SECT 7.96 2.0 8.9 11.85 23.7 11.1 12.55 25.1
SECT 11.64 3.7 15.9 12.40 45.9 15.2 13.15 48.7
SECT 14.56 2.9 8.9 12.40 36.0 9.1 12.15 35.2
SECT 16.96 2.4 4.3 6.60 15.8 0.0 4.55 10.9
i 17.0 173.4 162.2
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B oMy moe wx Bl omor wmx BwowmT wx BwoE T % &
0.0 0.0 — —
1.5 6.7 3.35 5.0
1.1 6.7 6.70 7.4
0.0 2.6 — —
HEWT 3.4 2.6 2.60 8.8
3.1 2.6 2.60 8.1
0.6 0.0 1.30 0.8
0.0 0.0 — —
0.6 7.9 3.95 2.4
3.4 7.9 7.90 26.9
0.0 7.9 — —
2.5 7.9 7.90 19.8
0.4 0.0 3.95 1.6
16.6 50.7 30.1
i~
50.7+30.1= 80.8
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HEAHE T & f O B %
4 W 2 NRRFS B E2V ¥ B HYr
2=} o ck=21N/mn”

1 NAT 2.01

P K

ik Sl 1/2X (2. 31+2. 31) X 2. 36 5.45

BATHD 1/2X (2. 31+1. 92) X 3. 30 6.98

UK (A) 1/2X (1.92+1.92) X 3. 68 7.07

UK (B) 1/2X (1.92+1.92) X 2.92 5. 61

1E7KEE (A) 4. 30

17K EE (B) 1.93

ERaVANIRS 1/2% (0. 35X 0. 526) X 1.59X2 0. 29

BT HE 0. 99 X 2. 20 2.18

il 2. 01+5. 45+6. 98+7. 07+5. 61+4. 3+1. 93+0. 29+2. 18 35. 82 35.82  m’
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Pk T B A K
va 7N TR~ =1 = % =S V(YA
LA B N AT 9. 86
BEIT 7K
FREEE 1/2 X (8. 04+8. 04) X 2. 36 18.97
BATED 1/2 X (8. 04+8. 52) X 3. 30 27.32
HoK & (A) 1/2 X (8. 52+8. 52) X 3. 68 31. 35
HoK# (B) 1/2 X (8. 52+8. 52) X 2. 92 24. 88
1E7KEE (A) 24. 22
1E7KEE (B) 13. 09
ERaVRIRS) 0.35X1.59%X2 1.11
T HE 0.91X2.20 2.00
9. 86+18. 97+27. 32+31. 35+24. 88+24. 22+
=t 13. 09+1. 11+2 152. 80 152.80 m°
M R
B HE 1. 78 X 2. 20 3.92 3.92 m’
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HEAHE T & f O B %
4 W 2 NRRFS B E2V ¥ B HYr
Feftkay -} o ck=18N/mm”
FiEESHl 1/2X (0. 33+0. 33) X 1. 74 .57
BATHD 1/2X (0. 33+0. 18) X 3. 30 .84
UK (A) 1/2% (0. 18+0. 18) X 3. 68 . 66
UK (B) 1/2% (0. 18+0. 18) X 2. 92 .53
at 0. 57+0. 84+0. 66+0. 53 . 60 2.60 m’
SERERI P FiEESHl 1/2X (0. 20+0. 20) X 1. 74 .35
BATHD 1/2X (0. 20+0. 20) X 3. 30 . 66
UK (A) 1/2% (0. 20+0. 20) X 3. 68 .74
UK (B) 1/2X (0. 20+0. 20) X 2. 92 .58
at 0. 35+0. 66+0. 74+0. 58 .33 2.33 m’
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B fh SD295A D13
kM- 323+415+409+319 1466. 00
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1E 7K BE 232+113 345. 00
2t 1466+91+345 1902. 00 1902.00 kg
19021000 1. 90 .90  t
SD345 D19
BORHE (ZEf%)  2.40X2.25X3 16. 20 16.20 kg
16. 21000 0.016 0.016 t
BT LR — D16 31+25+25 81.00 81.00  #H
1E 7KK CF200 6. 46+5. 20+5. 20 16. 86 16.86 m
H s t=10mm 2.32+1.91+1. 91 6. 14 6.14 m’
A P L-v VU ¢ 100 1. 86+3. 30+3. 68+2. 92 11.76 11.76  m
v4=7 kb VU¢50 L=0.4m 11.76/1.0 12. 00 12 f&pr
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BT P e 35
(1. 830+0. 350) X2 4. 36
(1. 950+0. 350) X2 4. 60
AT 1/2 X (4. 36+4. 36) X 2. 36 10. 29
BATHD 1/2X (4. 36+4.6) X3.30 14. 78
UK (A) 1/2X (4. 6+4.6) X 3. 68 16. 93
UK ¥ (B) 1/2X (4. 6+4.6) X2.92 13. 43
At 10. 29+14. 78+16. 93+13. 43 55. 43 55.43  Hni
7~ 1200 X 500X 2000 2.00 2.0 f#
1AL 4.0 K
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0.0 0.0 - -

0.6 7.9 3.95 2.4
3.4 7.9 7.90 26.9
0.0 7.9 - -

2.5 7.9 7.90 19.8
0.4 0.0 3.95 1.6
6.9 50.7
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LR 300325 6,535 1325
4 B % 3 g % wy 2B
&R &Y
a4 — k| ock=21N/mm2 |(1/2x(0.625+0.300) X 0.650) X 6.860 = 2.06
(1/2 % (0.625+0.300) X 0.650) X 0.325 X 1/2 = 0.05
2.06-0.05 = 2,01 m° 2.01
BB 1/2 % (0.625+0.300) X 0.650 = 0.30
1/2 X (6.860+6.535) X 0.650 = 4.35
(1/2 x (0.625+0.300) X 0.650) X 1.118 = 0.34
(1/2 x (6.860+6.535) X 0.650) X 1.118 = 487
0.3+4.35+0.34+4.87 = 9.86 m? 9.86
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3, 266 .
- . . B2
& B : e % BE L om my
Y — k| ock=21N/mm2 |1/2x(0.250+0.433) x 1.830 = 0.62
3.066 x 0.350 = 1.07
1/2 % (0.250+0.433) x 1.830 = 0.62
0.62+1.07+0.62 = 2.31 m? 2.31
BB (1.830 x 1.005+0.350) X 2 = 4.38
1.830%2 = 3.66
4.38+3.66 = 8.04 m? 8.04
HEBEO2 91—k 0ck=18N/mm2 |3.266 % 0.100 = 0.33 m® 0.33
V)Y B 0.100x 2 = 0.20 m? 0.20
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a2 — k| ock=21N/mm2 1/2%(0.250+0.445) x 1.950 = 0.68
1.590 X 0.350 = 0.56
1/2 % (0.250+0.445) x 1.950 = 0.68
0.68+0.56+0.68 = 1.92 m? 1.92
BB (1.950 X 1.005+0.350) X 2 = 4.62
1.950 %2 = 3.90
462+39 = 8.52 m? 8.52
HEBEQ2 91—k 0ck=18N/mm2 [1.790 % 0.100 = 0.18 m® 0.18
V)Y B 0.100x 2 = 0.20 m? 0.20
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8 EL L)
a2 — k| ock=21N/mm2 |1/2 % (1.800+1.617) x 1.830 X 0.200 = 0.63
0.200 x 1.830 X 3.660 = 1.34
1.817 x 0.350 X 3.660 = 2.33
0.63+1.34+2.33 = 4.30 m° 4.30
EV N (1/2 % (2.000+1.817) X 1.830)+(3.660 X 1.830) = 10.19
(1/2 % (1.800+1.617) X 1.830)+(3.460 X 1.830) = 9.46
0.200 x 1.830 X 1.005 = 0.37
0.200 % 1.830 = 0.37
(1.817%0.350) X 2 = 1.27
(3.660 % 0.350) X 2 = 2.56
24.22 m? 24.22

10.19+9.46+0.37+0.37+1.27+2.56 =
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1/2 % (2.152+1.977) X 0.350 X 1.300 = 0.94
0.99+0.94 = 1.93 m° 1.93
BB (1/2 x (3.250+2.152) x 1.830) X 2 = 9.89
0.200 x 1.830 X 1.005 = 0.37
0.200 % 1.830x 1.118 = 0.41
(1/2 % (2.152+1.977) X 0.35) X 2 = 1.45
1.300 X 0.350 = 0.46
1.300 X 0.350 X 1.118 = 0.51
9.89+0.37+0.41+1.45+0.46+0.51 = 13.09 m? 13.09
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